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ENGLISH VERSION

Instruction : All questions are compulsory.

1

(a)

What is dispersion ? Explain the measures of dispersion. 10

(b) For the given data find quartile deviation, coefficient 10
of quartile deviation and Bowley's coefficient of
Skewness.

0-[10-(20-[30-]40-|50-]60-|70-
Classes
10 {20 (30 [40 |50 |60 |70 |80
Frequency | 6 | 14 | 16 | 24 | 20 | 10 6 4
OR

(a) Explain the types of Skewness. 5

(b) For the given data find coefficient of quartile deviation, 15
coefficient of variation, coefficient of Skewness by Karl
Pearson's method and Bowley's method.

0-|5-[10-]15-{20-]25-(30-(35-]40-
Classes

5 |10|15 |20 [25 [30 (35 (40 |45

Frequency | S | 7 [ 13 | 30 [ 18 | 10 8 6 3

(a)
(b)

(a)
(b)

Explain meaning and need of cost of living index 10
number.
If the index number of Laspeyre's is 133.2, then 10
find the value of x from the following data :
Commodity Base Year Current
Price Quantity Year

A 5 12 8

K 18 10 x

J 13 20 15

OR

Prove that Fisher's index number passes both the 10

test factor rivisal and time rivisal.

A worker spends Rs. 2,000 per month for his family. 10
His cost of living index number is 176.6. For the given
table find the missing values.

Group Food |Clothing | House | Fuel | Miscellaneous

Index
number [ 200 140 160 110 120
Expanse - 240 160 - 100
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(b)

(b)

(b)

(b)

Explain simple random sampling method.

For a population observations are 4, 6, 8, 10 and 12.

Sample of size 2 is drawn without replacement. Prove
that sample mean is an unbiased estimator of population

mean. Also find variance of sample mean.
OR

Explain Stratified random sampling method.
Find the missing values and variance of stratified

sample mean.

Group | Number | Sample | Sample | Variance
size mean
I 40 8 10 25
II - 6 20 30
I11 - 4 12 08

¥, =14, N =100

Explain the method of scatter diagram.
Following is the data for 8 days of variable x and .

Find correlation coefficient.

3 a-12)(y-15)=80, 3 (x—12)* =400,

Y (y-15)7 =80, ¥=135 y=165.

OR
Write properties of regression coefficients.
For the given data obtain both the regression lines.
Find y when x=11.
2 |10 |4
y| 9115 |8
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